PHYS 321 TEST1

<1.1>

a. 1900, Plank suggest that “energy is radiated and absorbed in quantities divisible by discrete
energy element” when he tried to solve “black body radiation” problem introduced by
Kirchhoff 1859

b. 1905, Einstein postulated that light itself consist of individual quanta and explained
photoelectric effect (1839)

c. Compton effect
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b. K=ho-W = -W =2.48-1.9=0.58eV



<3>

Ap =mAvV=mx43x5%,

also, ApAX Zg

h

>
2x43x5%xm

AXppsepan > f =1.64x10"*m

2x43>(5%x015
. h
electron = 2x43x5%x9.1x107*

<4>

so, AX

AX =2.6x10"°m

a ho=h2rf=AE=E,—E = th(%—é) =13.6eV xg =12.09eV

_12.09eV
27h
1
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